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This bar chart shows the average monthly expenditure, by category, of households in a particular
town in 2005 and 2015.
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(a) In which category was there a decrease in the average monthly expenditure between 2005
and 20157

(b) How much more was the average monthly expenditure on housing in 2015 than in 20057

L,
2615 = £4860 Sto -4.80

= I - 1< Y
200S = $S60 o £ B0 2]

(c) The total average monthly expenditure in 2.%3 was £1200.

What percentage of this was spent on transport?

2005 TeaNSPe@T = 240 280 _ 20 _ 209

|200 oo



2 (a) Work out
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(b) Show that§ is bigger thani
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(c) What fraction is halfway between % and %
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3 (a) Complete each statement by writing the missing value in the box.
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(b) Work out.

(i) 06+2

(D)) ssssnssmsenst e tosnme s soaee RN AT RRA S AERET

(i) 1.5x2
/. §x2 =50 (Y~ 30 ..... (3\ ................

(a) Work out.
4+18+3
Qg
¢4+ 6 =10
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(a) Insert one pair of brackets to make the calculation correct.

5x7+1+9F 45
§x1+ 10
3c 4+ \© 45V

(a) Complete the following.

49 (101)
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(i) 32T=d 3x3x3 =21
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(b) Work out 32 + /100

( 3\

d¢3:9 1+
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(b) cnsnmnmnnninanne R ER s
(a) Write these fractions as decimals.
(i) -
Z 0-3
(8) (1) srspssssassmsmsanissassssmsres i sre s EaRsFoRsTREs

(b) A plank of wood 1.2 m long is cut into 6 pieces of equal length.

How long is each piece?

)].2+6



7 a) This is the plan view of a 3D object.

' )
T
A ‘ ,

Complete the diagram below t%) show the front view of the 3D object from A.
: \

-

[2]

b) Work out the Volume of the following prism

<xlL=60 12cm

s - ] cm
6o+2=30 . “ 3ox20

600 cm®

Z [3]



8

This probability scale shows the probability ofpfeiim a blue counter from a bag of counters.

[ T 8 ............................ 1]

(b) On the probability scale above, mark with an arrow (1) the probability of not picking a blue
counter. [1]

Not Blee = 7/8

Viraj cycled from his home to visit his aunt.
He drew this graph to show his journey.
He stopped at a shop 7 km from his home.

A
Aunt—12
104~
8_ 4
Distance ;
from home +
(kilometres)
4
2.. :
Home -0 T l T T - l T l T T T —
0 10 20 30 40 50 60

Time (minutes)



(a) State one assumption that Viraj made when he drew his graph.

O - . S
............................................................................................................................................. [1]

(b) For how long did Viraj stop at the shop?
(b) ’2 ....... minutes [1]

(c) Work out Viraj's average speed between his home and the shop.
Give your answer in metres per minute.

TKm 20 mns oo + 20

Tooowm w 1o mnS = 700f = (00 = (s
2 - S0
’__,—-"'
(c) qasoﬁ: metres per minute [3]

(d) How can you tell, without doing any calculations, that Viraj's average speed between his
home and the shop is greater than his average speed between the shop and his aunt?



10 Rashid is making cupcakes using these ingredients.

Cupcake ingredients
Makes 20 cupcakes
12049 flour
1409 butter
4 eggs
60g cocoa powder

50ml of water

(a) How many eggs does he need to make 80 cupcakes?

ZOCRL\'CS = q.e_(_:jo‘ss
NV <(‘5OCO\&I\QD = (C; e_aols < X((_.

X%

(b) How much butter is needed to make 2 cupcakes?

20cclres = [LL-O'Q
‘-lb\(-d D— < le

7_:—_&\»03 - |Lt-3

(c) Rashid has 125 ml of water and plenty of the other ingredients.
What is the most amount of cupcakes Rashid can make

S6 m\
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[3]

lzgm\ = g__o_ C&\Q



11 ABCD is a quadrilateral.

(a) Construct the bisector of angle ABC. /
Show all your construction lines. [2]

(b) Construct the perpendicular bisector of BC. /
Show all your construction lines.

[2]

(c) Shade the region which is

. nearer to BC than to AB

and
. nearer to B than to C.

(1]



12 (a) Multiply out.

3c(d - 4)

S

(d) Multiply out and simplify.
~

(2% + 5)(x = 3)
N2

2>x'-6x +Ss - 1S B

2
——~— () D 23“'(’&'(3 [2]
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13 A jacket has its price reduced by 10% in a sale.
The sale priceis £72.

Work out the price of the jacket before the sale.

|00 Vs = B o

o9, = 1<

Xlo

-9

14 By rounding each value to one significant figure, estimate the cost of 5.2 kg of apples at 77p per
kg.

S x Bor



15 Here is the floor plan of a rectangular room.

SSOcyn
55m
2m Not to scale
200 cva
A
g ~
Tim buys carpet tiles for this room. AI’QC& = :L X AN

Each tile is a square measuring 50 cm by 50 cm.

ot (\MZ

The tiles are only sold in packs of ten.

Each pack costs £20. :&7~$ X“‘-’ 77 <+ SSO

Tim pays for fitting at a rate of £7.50 per square metre, with any fraction of a square metre rounded

up. -‘ = %?_go
T =

Work out the total cost of the tiles and fitting.

U 4les  acvoss G = e tles

Ll— ’h\es Uf /]/o%f—v\

o S pad
> ,__f;_\Q _ %\10.00

-5
g X 20 = %(20 t _,_\2'__,__(_)_
= 420250
s [6]

16 Work out.

(i)2-7

(ii) -2 x -5



Here are the first four terms of a sequence.

5 8 11 14

¥3 3 +3

(a) Write down the next term.

(b) Write an expression for the nth term.

(a) Explain why 302 is aterm in the sequence.

--------------------------------------------------------------------------------------------------------------------------
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(a) Simplify fully.

(i) 5t+5u-2t+u

(@)(1) cevereee TN T M [2]
(i) 3ax2a®
bo
) [0
(1) P S [2]
(b) Make x the subject of the formula
y=x?+5
5 _S =x?
(D) et [2]

X = A) Y-§



19 AB and CD are parallel lines.

EF and FB are straight lines.

E
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55°

Not to scale

a) Work out x giving a reason for your answer
6
Y ) AH'QN\GA_Q M“ULQ»Y ove e tuo\(
—— I— —
b) Work outy giving a reason for your answer

/o° :)E,owe,spuxolma W\ﬁs e Qc(uc«(

20 Solve by factorising.

X?+3x-10
+ X

(:L +S )(DC—Z)

[2]

[2]



21 In a survey, 110 people were asked whether they have a car (C) or a bicycle (B).

—_—

The Venn diagram shows some of the results.

€
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The ratio of those that only have a car to those that only have a bicycleis 8: 1.

One of the 50 people is chosen at random. \
c‘ low{"\
4 -4 =N

- 9%
Cor i & xI\ =B
\\O | x W=

Find the probability that they have a car.

You must show your working.

22 Circle the value of sin 30°.
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23 In this question, all lengths are in centimetres.

The diagram shows an equilateral triangle and a square.

Not to scale

3a a+b

The perimeter of each shape is 36 cm.
pu——____g

a) Write down an algebraic expression for the perimeter of the triangle

qOL [1]

b) Form and solve an equationto find a

C(Ok = Se [2]

c) Write down an algebraic expression for the perimeter of the square

[2]

(o + b
=



24 Imran joins two tiles together as shown below.
One tile is a regular hexagon and the other tile is a regular pentagon.

Not to scale

(a) Show that angle ais 132°.



25

A weather forecast says
¢ the probability that it will rain on Monday is 0.55 and
¢ the probability that it will rain on Tuesday is 0.25.

Ella draws a tree diagram to show this information.

Monday Tuesday

does not rain

rains
0.75
rains

0.55
—— ~/

0.25 .

does not rain

0.35
-

Write down three errors that Ella has made with her tree diagram.

0.$5 * 025 s pet A
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